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1
1.1
samplel2
1.1.1
[ 9-80]
1.1.2
Ae
mv
Cc
Ae
v =0.45
1.1.3
@
e
)
1.2
(€)) N 5
@
No
1 | Bg
2 | Ag
3 | Dgl
4 | Dcl
5 | Dc2
Cv
Y qo E
No 1 iensm) Ce Cs /m2) | (vm2) |«
1 20.000 0.0000 0.1000 0.0 1000.0 1.00
2 19.000 0.0000 0.1000 0.0 1000.0 1.00
3 16.000 | 0.9400 | 0.1000 0.0 1000.0 1.00
4 21.000 0.0000 0.1000 0.0 1000.0 1.00
5 18.000 0.0000 0.1000 0.0 1000.0 1.00

FORUMS8




* Cv a
Ch=a Cv

Ch

FORUMS8




® ( D m)
2

0.000 0.000 4.651 1.989 9.439 5.131

0.694 0.000 4.606 2.084 9.482 5.038

1.418 0.000 4.941 2.182 9.527 4.941

6.211 0.000 4.756 2.837 9.824 4.298
11.710 0.000 4.544 3.588 8.668 5.057
17.195 0.000 3.858 4.337 7.095 6.235
17.400 0.000 3.833 4.365 7.110 6.205
19.500 0.000 3.663 4.651 7.267 5.897
22.460 0.000 3.725 4.754 7.487 5.463
24.910 0.000 3.650 4.840 7.669 5.104
25.694 0.000 3.627 4.866 7.642 5.075
27.800 1.137 3.617 4.940 7.569 4.996
34.888 4.963 3.587 3.711 8.800 4.729
36.500 5.021 3.581 3.431 9.079 4.669
38.480 4.929 3.736 3.088 9.422 4.595
41.000 3.277 3.934 2.651 9.860 4.500
43.500 1.639 4.129 2.218 9.911 4.789
46.000 0.000 4.326 2.092 9.655 5.077
52.000 0.000 4.603 1.792 9.038 5.770
73.410 0.000 4.205 2.107 6.840 8.241
81.300 0.000 4.006 2.223 6.029 9.152
88.430 0.000 3.825 2.328 5.974 9.298
100.000 0.000 3.850 2.181 5.885 9.534

FORUMS8




(4) e logP
P : (kN/m?)
e :
[ 1] B.K.Hough ( (N>50))
0.394
0.392
0.39 <
0.388
0.386
0.384
0.382
0.38
0.378
0.376
0.374
0.372
0.371
0.368
0.366
0.364
0.362
0.36
0.358
0.356
100 1,000
i 1 2 3 4 5 6 7 8 9
P 20.000 30.000 50.000 75.000 100.000 200.000 300.000 | 400.000 500.000
e 0.395 0.392 0.388 0.385 0.383 0.378 0.375 0.373 0.372
i 10 11 12 13 14
P 750.000 | 1000.000 | 2000.000 | 3000.000 | 5000.000
e 0.369 0.367 0.362 0.359 0.355

FORUMS8




[ 2] B.K.Hough ( (N=10 30))
0.57
0.565
0.56
0.555
0.55
0.545
0.54
0.535
0.53
0.525
0.52
“0.515 AN
0.51 -
0.505
0.5
0.495
0.49
0.485
0.48
0.475
0.47
0.465
0.46
100 1,000
p
i 1 2 3 4 5 6 7 8 9
P 20.000 30.000 50.000 75.000 | 100.000 | 200.000 | 300.000 | 400.000 | 500.000
e 0.575 0.570 0.560 0.555 0.550 0.540 0.530 0.525 0.520
i 10 11 12 13 14
P 750.000 | 1000.000 | 2000.000 | 3000.000 | 5000.000
e 0.510 0.500 0.480 0.470 0.460

FORUMS8




[ 3] B.K.Hough  ( (N=4 10))
0.76
0.75
0.74
0.73
0.72
0.71
0.7
0.69
@ 0.68
0.67
0.66
0.65
0.64
0.63
0.62
0.61
0.6
100 1,000
P
i 1 2 3 4 5 6 7 8 9
P 20.000 30.000 50.000 75.000 | 100.000 | 200.000 | 300.000 | 400.000 | 500.000
e 0.760 0.750 0.740 0.730 0.720 0.690 0.680 0.675 0.670
i 10 11 12 13 14
P 750.000 | 1000.000 | 2000.000 | 3000.000 | 5000.000
e 0.660 0.650 0.630 0.620 0.600
[ 4] Wn = 500 700
11
10
9
8
o 1 \
6 \
5
4
3
10 100 1,000
P
i 1 2 3 4 5 6 7 8
P 10.000 20.000 40.000 80.000 | 160.000 | 320.000 | 640.000 | 1280.000
e 11.500 10.750 9.800 8.010 5.450 3.940 2.770 2.120

FORUMS8




[ 5] B.K.Hough  ( (N=4  10))
0.76
0.75
0.74
0.73
0.72
0.71
0.7
0.69
@ (.68
0.67
0.66
0.65
0.64
0.63
0.62
0.61
0.6
100 1,000
P
i 1 2 3 4 5 6 7 8 9
P 20.000 30.000 50.000 75.000 | 100.000 | 200.000 | 300.000 | 400.000 | 500.000
e 0.760 0.750 0.740 0.730 0.720 0.690 0.680 0.675 0.670
i 10 11 12 13 14
P 750.000 | 1000.000 | 2000.000 | 3000.000 | 5000.000
e 0.660 0.650 0.630 0.620 0.600

FORUMS8



(5) logCv logP

P : (kN/m?)
Cv : (cm’/day)
[ 4] Wn = 500 700
>
]
1,000
10 100 1,000
P
i 1 2 3 4 5 6 7 8 9
P 4.900 13.859 27.719 55.473 | 110.980 | 221.890 | 443.780 | 887.596 | 1775.227
Cv 4044.3 6008.2 5953.9 2929.5 1856.6 610.7 661.4 575.0 559.1

FORUMS8



1.3
@ 1
@
[ 1]
(kN/m?)
1 2 L
No. (m) (m) ) (m)
1 34.888 3.592 0.000 28.000 | — —
2 38.480 7.520 28.000 | 120.000 | — —
3 46.000 5.000 | 120.000 | 118.000 | — —
4 51.000 7.520 | 120.000 0.000 | — —

FORUMS8




- 10 -

1.4
X
No. (m)
1 36.500
2 48.500
3 54.000

FORUMS8
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(3)

|

(2)

(1)

10
15
20
(m)

1.5
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FORUMS8




- 12 -

1.5.2
€Y
(
0.790 0.550
(
0.000 100.000
No
1 0.694 0.790
2 1.418 0.409
3 11.710 0.143
4 17.400 0.487
5 22.460 0.571
6 25.694 0.790
7 34.888 -3.790
8 38.480 -3.770
9 46.000 0.850
10 73.410 0.607
@
[ 1]
0.790 0.550
No
1 0.694 0.790
2 1.418 0.409
3 11.710 0.143
4 17.400 0.487
5 22.460 0.571
6 25.694 0.790
7 36.500 1.240
8 46.000 0.850
9 73.410 0.607
[ 2]
5.441 4.400
No
1 19.500 4.185
2 52.000 5.400
3 88.430 4.400

FORUMS8



- 13 -

®

[ 3]
7.430 6.581
No
1 27.800 9.435
2 43.500 7.300
[ 4]
16.869 12.466
No
1 6.211 17.702
2 11.710 16.943
3 17.195 15.765
4 24.910 16.896
5 41.000 17.500
6 81.300 12.848
[ 5]
22.000 22.000
0.000 0.000

FORUMS8




- 14 -

1.6

[P*+ P*/2] mv
[P*+ P"/2] Cv
[ 1

FORUMS8




- 15 -

2
2.1
2.1.1 1
Lx = 36.500 (m)
. /
@
P :
No. :
(m
Y (kN/m*)
PO (kN/m?)
P
No H y >YyH y H/2 PO
m (KN/m) | (KN/m) | (kNZIP) | KN/ 1
(KN/m?)
1 5.021 | 20.000 | 100.420 | 50.210 50.210 11.875
2 3.581 | 19.000 |168.459 | 34.020 134.439 | 15.898
3 3.431 16.000 | 223.355 | 27.448 195.907 | 21.792
4 9.079 | 21.000 |414.014 | 95.330 318.685 | 29.272
5 4.669 | 18.000 | 498.056 | 42.021 456.035 | 30.172
@ e
e — el
S = — . H ..... ( eO > el )
1 + eo
el PO g0
el PO+ P
1
e0 — el
No. H(m) e0 el e0-el 1 + eo m
1 5.021 0.006
2 3.581 0.5457 0.5441 0.0016 0.0010 0.004
3 3.431 0.6909 0.6879 0.0030 0.0018 0.006
4 9.079 3.9490 3.7986 0.1504 0.0304 0.276
5 4.669 0.6721 0.6706 0.0014 0.0009 0.004
S 0.295 m

FORUMS8



- 16 -

2.1.2 2
Lx = 48.500 (m)
I /
€Y
P :
No. :
H (m
Y (kN/m*)
PO (kN/m*)
P
No H y >YyH y H/2 PO
m (KN/m) | (KN/m) | (KNZIP) | KN/ 1
(KN/m?)
1 0.000 | 20.000 | 0.000 0.000 0.000 0.000
2 4.441 19.000 84.387 42.193 42.193 122.505
3 1.967 16.000 115.859 15.736 100.123 103.425
4 9.398 | 21.000 |313.215 | 98.678 214.537 | 72.212
5 5.366 | 18.000 |409.799 | 48.292 361.507 | 49.750
@ e
0 - el
g= "% Ty L. (e0 > el)
1 + eo
e0 PO q0
el PO+ P
1
e0 — el
No. H(m) e0 el e0-el 1 + eo m
1 0.000 0.000
2 4.441 0.5633 0.5428 0.0205 0.0131 0.058
3 1.967 0.7199 0.6896 0.0304 0.0177 0.035
4 9.398 4.8110 4.1790 0.6320 0.1088 1.022
5 5.366 0.6768 0.6744 0.0024 0.0014 0.008
>S 1.123 m

FORUMS8



- 17 -

2.1.3 3
Lx = 54.000 (m)
I /
€Y
P :
No. :
H (m
Y (kN/m*)
PO (kN/m*)
P
No H y >YyH y H/2 PO
m (KN/m) | (KN/m) | (KNZIP) | KN/ 1
(KN/m?)
1 0.000 | 20.000 | 0.000 0.000 0.000 0.000
2 4.566 | 19.000 | 86.751 43.375 43.375 71.718
3 1.821 16.000 115.893 14.571 101.322 | 67.667
4 8.833 | 21.000 |301.380 | 92.743 208.637 | 57.337
5 6.001 | 18.000 |409.394 |54.007 355.387 | 44.103
@ e
0 - el
g= "% Ty L. (e0 > el)
1 + eo
e0 PO q0
el PO+ P
1
e0 — el
No. H(m) e0 el e0-el 1 + eo m
1 0.000 0.000
2 4.566 0.5628 0.5480 0.0148 0.0095 0.043
3 1.821 0.7194 0.6973 0.0221 0.0129 0.023
4 8.833 4.8718 4.3428 0.5289 0.0901 0.796
5 6.001 0.6771 0.6750 0.0020 0.0012 0.007
>S 0.870 m

FORUMS8



- 18 -

2.2
2.2.1

0.0

1.0

(m)

(1)

(2)

(3)

Nelk

FORUMS8




- 19 -

2.2.2

FORUM8




- 20 -

() Em
(B+2hn * tan 6 )L
log
(L+2hn - tan 8 )B
Em =
1 (B+2hi + tan 8 ) (L+2hi-1 - tan §)
2 —log
Ei (14+2hi » tan 8 ) (B+2hi-1 « tan §)
Em B# L
B (m)
L (m
hn (m) B 3
hi (m)
Ei i
0 6 =30°
) Si
. —3ai * qi . ai 0.75 X X X X
Six = ¥ —log sin|tan'—]| « | 1. 0- I+—|log [l+—| + [1-——)1log |I-——
Em+ = H T ai ai ai ai
Six X (m)
qi
2ai (m
H (m)
X (m)
1
Lx = 36.500 (m)
1
No (m (m (m) | Em  (kN/m?) (kN/m?) (m) (m
1 3.592 10.000 25.781 1000.000 14.000 0.184 0.0639
2 7.520 10.000 25.781 1000.000 74.000 5.740 0.1853
3 5.000 10.000 25.781 1000.000 119.000 12.000 0.0000
4 7.520 10.000 25.781 1000.000 60.000 18.260 0.0000
1 2 S 0.2492 m

FORUMS8



- 21 -

Lx = 48.500 (m)
1
No m m (m) | Em (kN/m) (kN/m?) m m
1 3.592 10.000 21.172 1000.000 14.000 11.816 0.0000
2 7.520 10.000 21.172 1000.000 74.000 6.260 0.1444
3 5.000 10.000 21.172 1000.000 119.000 0.000 0.6089
4 7.520 10.000 21.172 1000.000 60.000 6.260 0.1171
1 >S 0.8704 m
Lx = 54.000 (m)
1
No m m (m) | Em  (kN/m) (kN/m?) m m
1 3.592 10.000 21.221 1000.000 14.000 17.316 0.0000
2 7.520 10.000 21.221 1000.000 74.000 11.760 0.0000
3 5.000 10.000 21.221 1000.000 119.000 5.500 0.0998
4 7.520 10.000 21.221 1000.000 60.000 0.760 0.3725
1 S 0.4722 m

FORUMS8



- 22 -

3.1

0.0

1.0

(m)

(1)

@ ©

FORUMS8




- 23 -

() Em
(B+2hn * tan 6 )L

log
(L+2hn * tan 6 )B
Em =
1 (B+2hi + tan 8 ) (L+2hi-1 - tan §)
2 —log
Ei (14+2hi « tan 0 ) (B+2hi—1 + tan @)
Em Bz L
(m
L (m
hn (m) B 3
hi (m)
Ei i
0 6 =30°
(@) Ri
. —(1+v) (1-2v)qi = ai [ bi (ai—x)"+ bi®  ai—x [ bi ait+x L bi
Rix = —log S + — tan - - — tan -
Em -+ n 2ai (ait+x)+ bi’ ai ai—x ai aitx
Rix X (m)
qi
\ v=0.3 0.45
2ai (m B=2ai
2bi (m) L=2bi
n
X (m
1
Lx = 36.500 (m)
1
No . (m (m (m | Em  (kN/m%) (KN/m*) (m (m
1 3.592 10.000 25.781 1000.000 14.000 0.184 -0.00029
2 7.520 10.000 25.781 1000.000 74.000 5.740 -0.01945
3 5.000 10.000 25.781 1000.000 119.000 12.000 -0.01096
4 7.520 10.000 25.781 1000.000 60.000 18.260 -0.00564

1 >SS -0.03634 m

FORUMS8



- 24 -

Lx = 48.500 (m)
1
No m m (m) | Em (kN/m) (kN/m?) m m
1 3.592 10.000 21.172 1000.000 14.000 11.816 0.00093
2 7.520 10.000 21.172 1000.000 74.000 6.260 0.01825
3 5.000 10.000 21.172 1000.000 119.000 0.000 0.00000
4 7.520 10.000 21.172 1000.000 60.000 6.260 -0.01480
1 >S 0.00439 m
Lx = 54.000 (m)
1
No m m (m) | Em  (kN/m) (kN/m?) m m
1 3.592 10.000 21.221 1000.000 14.000 17.316 0.00065
2 7.520 10.000 21.221 1000.000 74.000 11.760 0.01060
3 5.000 10.000 21.221 1000.000 119.000 5.500 0.02078
4 7.520 10.000 21.221 1000.000 60.000 0.760 -0.00391
1 S 0.02813 m

FORUMS8




- 25 -

4.1

=50

50

FORUMS8




- 26 -

5.2

2
Lx = 48.500 (m)
e
Cv
PO : (kN/m*)
P: (kN/m?)
P P+ P/ 2 (kN/m)(AP":PO+A P-P",P":P0 0
Cv m/ )
1
POCKN/TY) | P(KN/m?) | PCKN/MD) | Cv@m/ )
4 214 .537 72.212 250.643 0.061932
Cv
D(m) cv(m’/ )
i 4.699 0.061932
D o
R t = o Tv (ke Arr iy D — i =0)
D (m
Cv : m/ )
u :
Tv :
t )
S (m
CT: 0
1
U 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 | 0.197 | 0.287 | 0.403 | 0.567 | 0.848 | —
t( ) 3 11 25 45 70 102 144 202 302 | ——
S(m) 0.102 | 0.204 | 0.307 | 0.409 | 0.511 | 0.613 | 0.716| 0.818 | 0.920 | 1.022

FORUMS8



- 27 -

5.3

% H E

==
—
iy

v i &

0.0

1.0

(I) SIO 6|0 9|0 1%0 1?0 IEI§O 2}0 ZZILO 2?0 S(I)O SIISO 3?0 SEI)O 4%0 4?0 4E|30

JEF R ¢ [H]

(m)

Sg =

1.993 m

FORUMS8
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5.4

% H E

==
—
iy

= M B H

0.0

1.0

1

JEF R ¢ [H]

(I) SIO 6|0 9|0 1%0 1?0 ISISO 2}0 2£|10 2?0 S(I)O SIISO 3?0 SEI)O 4%0 4?0 4E|30

FORUMS8
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